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0 U 00
PHYSICS

1. Aradioactive element X with a half life of
2 hours decays giving a stable element
Y. After atimet, the ratio of X to Y atoms
is1:7, thentimetis

A) 6 hours

B) 4 hours

C) Between 4 to 6 hours
D) 14 hours

2. Three photodiodes D,, D, and D,
are made of semiconductors having
band gaps of 2.5 eV, 2eV and 3 eV,
respectively. Which one will be able to
detect light of wavelength 6000A° ?

A) D,
B) D,
C) D,
D) D,and D,

3. Which of the following is not a derived
physical quantity ?

A) Speed
B) Volume
C) Force
D) Mass

4. The number of significant figures in
0.07800 is

A) 4
B) 5
C) 2

D) 3 |
A =5

siiferes fagm

1. T g o X fooeht anf arg 292 2

BEHERRTEYRPevdad 1=
It HAR, X F Y T H STI
1:7%, @913

A) 6H

B) 4%

C) 4¥ 6 udi % ofi=

D) 142

. fwdeEE D,, D, 3 D, FWE: 2.5 eV,

2 gV 311 3 eV & g Farei] aTel LR
YT § | T A HA-T1 6000A° it Freedar
AT WehTS1 ! TohE Tehell & 7

A) D,

B) D,

C) D,

D) D, 3R D,

. Pt 3 & #9-wh st i

AETTE § ?
A) Tife
B) imeH
C) =
D) ¥R

. 0.07800 T =nefe il it dEm B

A) 4
B) 5
C) 2
D) 3
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5. A car travelling at 9 ms~' accelerates

and attains a speed of 27 ms-' in 5s,
the distance covered in 5s is

A) 60m B) 564 m
C) 90m D)45m

. A boy walks 5 m towards east and then
turns at an angle of 60° to the north
of the east and walks 5 m. The net
displacement of the boy is

A) 5\3m
B) 104/3m
C) 5m

D) 5v2m

- A string passes over a smooth pulley
with masses 4 kg and 5 kg attached

to the ends of the string and hanging
vertically. The tension in the string is

A) 49N

B) 43.55 N
C) 54.45N
D) 13.06 N

. Acircular disc rotates at 60 revolutions
per minute about an axis passing
through its center. A coin of 18 g is
placed at a distance of 8 cm from the
center of the disc. The centrifugal force
on the coin is

A) 0.088 N
B) 0.057 N
C) 0.044 N
D) 0.075 N

O

5. 9fd ' R dsa W wanw=w

o R 3R 98 5 e A 27 A Ry
ST HR AR R | 5 b A 7w et 2
w7

A) 60, B) 54 .

C) 90 . D) 451,
- T TG 5. g s @ Rl &

I T AR 60° % v T gz & i 57,
el 8 | S o e R 2

A) 5431,

B) 10/3f.

C) 5.

D) 521,

- T TR O Feraft et o @ ereeft @ )

& 31 Rl w4 fram, afe s e mL &
R 3T e € | an  avrg d

A) 49 N

B) 43.55 N

C) 5445 N

D) 13.06 N

- U TR qvell 39 g A TR It v

ﬁaarﬁeﬁteowhwﬁrﬁazﬂm%qgm
Biawd Sz 8 A Mghiw 1gm,
1 T T T R | R wared wer

A) 0.088 N
B) 0.057 N
C) 0.044 N
D) 0.075 N
5 JCECE (P&C)
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9. If the momentum of the body increases
by 10% then the increase in Kinetic

energy of the body is
A) 21%
B) 44%
C) 1%
D) 55%

10. For which of the following does the
center of mass lie outside the body ?

A) A pencil
B) A dice

C) A bangle
D) A shot put

11. A steam of water flowing horizontally
with a speed of 25 ms™ gushes out of
a tube of cross-sectional area 10-* m?
and hits a vertical wall nearby. What
is the force exerted on the wall by the
impact of water ?

A) 125N
B) 625 N

C) — 650 N
D) - 1125N

12. The change in potential energy when
_a body of mass m is raised to a height
nR, from earth’s surface is (R = radius
of the earth)
n
A) mg R_ [n— J
B) mg R

omunf

n+1

D) Mg Re
n

Page No. 5

9. af Tk =g = 3T 10% g ST 8 < Ierehl
A) 21%
B) 44%
C) 11%
D) 55%

10. Fr=fofea o @ fress g smw F s @
TSR ?
A) T Ufte
B) s uiE

C) Tt
D) & e

11. it 1 T gRT 107312, TR FlE S5
et T et ¥ 25 1 31 i i | Sfas
et g% e O fee fm ssimdlan
W THUA B | 9 T IR TS o
a2 7
A) 125 N
B) 625N
C) —650 N
D) -1125N

12. & G m R Teft 6g %l geait & oiaa 9
nR i S=I1 7o IS e @ a w e Sl
7 afada § | (R, = gt it i)
A L
) mg e ||
B) mg R,
n
C) mg Re{m]

D) ,“.]%,BE
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13. For a perfectly rigid body

A) Young's modulus is infinite and Bulk
modulus is zero

B) Young's modulus is zero and Bulk
modulus is infinite

C) Young's modulus is infinite and Bulk
modulus is also infinite

D) Young's modulus is zero and Bulk
modulus is also zero

14. Eight drops of water, each of radius
2 mm are falling through air at a terminal
velocity of 8 cms™. If they coalesce to
form a single drop, then the terminal
velocity of combined drop will be
A) 32cms™
B) 30 cms™!

C) 28 cms™!

D) 24 cms™!

15. Two moles of oxygen is mixed with
eight moles of helium. The effective
specific heat of the mixture at constant
volume is

A) 1.3R
B) 1.4R
C) 1.7R
D) 1.9R

16. The root mean square speed of smoke
particles each of mass 5 x 10~ kg in
their brownian motion in air at N.T.P. is

A} 3x102ms
B) 1.5x 102 ms™
C) 3x10%ms
D) 1.5 x 103 ms™!

13.

14.

15.

16.

T e 3R v & fore

A) T 1 W97 3 § 3fi o wraien
A2

B) I = A19i Y R 3 N Wi
34 B

C) 4T %1 i o7a & 3 oo wraias ot
3 B

D) ¥ 1 "1 Y[ & iR e wwien oft
YR

A 8 A A F el wdn @ Preh
e fenach aewar R
3 3 e o g wwh § @ @l 4
1 a7 B

A) 3231t 3

B) 309.4, 4

C) 28@.#. &

D) 24 a4, 3

TS & 2 A @ F s Aie ¥
w1y firme s ¥ | e st W fisn 6
ureft fofive w2 |
A) 1.3R
B) 1.4R
C) 1.7R
D) 1.9R

LA 9 W5 x 107 fF.a. wRawR e
YU % 0 i arg A 37 wrefrm wfy &
ey g iy 2
A) 3 x 10721t g~
B) 1.5 x 10721}, ¥
C) 3 x 1034, 3
D) 1.5 x 1034 g
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17.

18.

19,

20.

An observer moves towards a stationary
source of sound with a velocity one-fifth
of the velocity of sound. The percentage
change in the apparent frequency is

A) zero
B) 5%
C) 10%
D) 20%

If a body gives out 10° electrons every

. second, how much time is required to

get a total charge of 1 C from it ?
A) 198.2 years
B) 19.82 years
C) 1.928 years
D) 1982 years

Electric charges q, q, — 2q are placed
at the corners of an equilateral triangle
ABC of side I. The magnitude of electric
dipole moment of the system is

A) ql
B) 2q!
C) v3qi
D) 4q!

An electric dipole of length 10 cm

having charges + 6 x 107°C, placed at
30° with respect to a uniform electric
field experiences a torque of magnitude

6/3 Nm. The magnitude of the electric
field is '

A) 4./3 x 10*NC™
B) 243 x 10*NC™
C) 443 x 108 NC-
D) 243 x 105NC-

Page No. 7

17. T [qere i & T fer S i i =

18.

19.

20.

Fuma Y ddamdwgw? | v smgh
1 afterd i 2

A) T
B) 5%
C) 10%
D) 20%

T T Ui Ahs 10° FoiagH T S © |
3a4 faa @ 3 1 C &1 $a 7a W
am ?

A) 198.2 94

B) 19.82 a4

C) 1.928 =

D) 1982 a¢

ol | A O THaTg Fnge ABC & @M1 T
R am@w q, q, - 2q @ T E | ot

forgga g amepet @
A) ql

B) 2q!

C) V3q!

D) 4q1i

10 @i, §a18 3 + 6 x 10-3C & =W

Tt us fage figa = e fage
87 F gy 30° X T T A 9w

6+/3 = . w1 Ferui HegE wtar ¢ | g
& 1 i &

A) 4.3 x 10°NC™
B) 243 x 10*NC™!
C) 43 x 108NC
D) 2./3 x 108NC!
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21.

22.

23.

A parallel plate capacitor having plate
area 25 cm? and separation 1 mm is
connected to a battery of 6V, the work
done by the battery during the process
is

A) 8x1071°J
B) 4x 1079y
C) 8x1073y
D) 4x1072)

The colour code of resistor is brown,
violet, yellow and gold. Then the value
of the resistance is

A) 0.17 mega ohm * 5%
B) 0.17 micro ohm + 5%
C) 0.7 milli ohm * 5%

D) 0.17 nano ohm + 5%

In comparing the resistance of 2 coils
P and Q with a slide wire bridge, a
balance point is obtained when the
sliding contact is 30 cm from the zero
end of the wire. The resistances P and
Q are interchanged and the balance is
obtained at 120 cm from the same end.
The length of the bridge wire is

A) 150 cm
B) 200 cm
C) 250 cm
D) 100 em

Page No. 8

21.

22,

23.

TN

T AHFR S Ui Rt Soes fawa
25 9.2 § ofR fomlew 1 L. &, sv
T 38 A 91 ® | Wik % w3 gro o
T R

A) 8x 1019y
B) 4 x 107
C) 8x 10712J
D) 4 x 10-12J

Sfetrae =1 U1 e 3@, SR, fiem ik
TAEU ¢ | wied e R

A) 0.17 ¥ 309 + 5%
B) 0.17 gsht 31W + 5%
C) 0.7 fielt 30w + 5%
D) 0.17 ¥ 38 + 5%

T YT AR 8g & |19 2 peeeal P 3k
Q & ity i go F W & dger fog
W BT 8, 91 a1 % Y SR W W q9F
30 @t ? | wiely P alk Q s i aRm e §
i Hger e SR & 120 Wft <At g W e
2 | §g 9 i Hard ®

A) 150 Tt

B) 200 a+t

C) 250 @t

D) 100 &
5 JCECE (P&C)
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24. Two small circular loops, carrying
equal currents are placed with the
geometrical axes perpendicular to
each other as shown in figure. The
magnitude of net magnetic field
produced at the point O is

IR?
D) B= Fo

2 (x* +R?)*
25. The SI unit of magnetic permeability is
A) WbA™'m
B) WbA~' m"
C) Hm
D) Tm™ A

A

https://exams.freshersnow.com/category/entrance-exam-question-papers/

24,

25,

2 B Fefta wiw f g g <8 @
3, for 3 R 7gER 3% SR S8
o R ¥ v §1 fig O w3 Frae
g o 1 ARE R |

Hadb T i S| TR §

A) WbA™'m
B) WbA'm™
C) Hm
D) Tm™A
5 JCECE (P&C)
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26.

27.

28.

Two similar coils of radius R and number
of turns N are lying concentrically with
their planes at right angles to each
other. The currents flowing in them are
[ and 2I respectively. The resultant
magnetic induction at the center

will be

A) Ho NI
R

NI
By Ho™
)2FI

\El-lo NI
©) 2R

Jg}.l NI
Dy =fo °
) 2R

An AC voltage of 100 V, 50 Hz is
connected across a 20 Q resistor
and 2 mH inductor in series. The
rms current in the circuit is

A) 10A
B) 5A

C) 15A
D) 25A

If Vg, V., and V_ are the speeds of

gamma rays, X-rays and microwaves
respectively in vacuum, then

Ay V <V <V
B) V9>V1>Vm
C) Vg:-Vx{Vm
D) Vo=V, =V,

Page No. 10

26.

27.

28.

A A P

e R o N gori it e a1t @
Fsferal wreg W ¥ ofk % 79w q@
& WEhI 0§ | I e At freg s
I 3R 21 % | %3 W oRomht gohi Iqure
qm

A) Ho NI
R

2R

V3, NI
©) 2R

D) V511, NI
2R

100 V 3iR 50 Hz %1 & weft Seee 20 Q
o SfeRIE 2 2 mH % 3 & sgen

91 ? | Fihe 1§ stmuey fga 2
A) 10 A
B) 5A
C) 15A
D) 25A

ARV, v, 3RV, s e s, X-Ro
ST e <t Fata § 7 2, @
AV <V <V
B) V,>V,>V,
C) V,>V, <V,
D) V.=V, =V,
5 JCECE (P&C)
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0

0g. A convex lens is made of glass of R.l.
1.5. If radius of curvature of each its
two surfaces is 20 cm, the ratio of the
power of the lens, when placed in air to
its power when immersed inside a liquid
of refractive index 1.25is

A) 5
B) 2
C) 25
D) 0.4

30. Theangle of minimum deviation for prism
of angle % is % . The refractive
index of the material of the prism is

a) V3
B) V2

) %
D) %

31. A diffraction pattern is obtained using
a beam of red light. What happens if
the red light is replaced by blue light ?

A) No change

B) Diffraction bands become narrower
and crowded together

C) Bands become broader and farther
apart

D) Bands disappear altogether

A

https://exams.freshersnow.com/category/entrance-exam-question-papers/

29.

31.

w39 o IgEdAH 1.5, e wE
a1 2 | R o ol el o s B
2nﬁ.zﬂ.%,m§ﬁt@aﬁqt€mﬂsﬁﬁ
1.25 T 3 o G S WS
wifE &1 I

A) 5

B) 2

C) 25

D) 0.4

. 1, e 3 e 35 R T ST

%%iﬁm%wﬂmm%
) V3
B) v2

o) %
D) % .

<t e 3 TR -t S R §
@ﬁaﬁqaammﬁ?ﬁiiwﬁnﬁ
mﬂmﬁemmvﬂmmmﬁm

e ?
A) g TREda T

B)ﬁaﬁwgﬂﬁﬂiaﬁ@mwﬁr
e 8

G}qﬁ’laﬂé’lafrcagg—a{gﬁﬁrﬁﬁ%l

D) ot e ane e B W
5 JCECE (P&C)
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32.

33.

34.

35.

Light of frequency 7.21 x 10" Hz is
incident on a metal surface electrons
with a maximum speed of 6 x 10°ms™
are ejected from the surface. The
threshold frequency for photoemission
of electron is

A) 2.32 x 10" Hz
B) 2.32 x 10'2 Hz
C) 4.74 x 10" Hz
D) 4.74 x 102 Hz

A proton, a neutron, an electron and an
o-particle have same energy. Then their
de-broglie wavelengths compare as

A) ?.p=ln>la>lu
B) lﬂ<1p=ln<?.a
C) A, <A, =R >4,
D) lﬂ=?|.p=?u"=ln

32.

33.

A A0

7.21 x 10" Hz 1gfd 1 Wbl & uifeae
TS R AMR@ T s 16 x 1058, 3.1
ftreram Td a1 Toieg I ¥ Feed €
T % TR Ieasi & ferg Himia
g R

A) 2.32 x 10" Hz

B) 2.32 x 10" Hz

C) 4.74 x 10" Hz

D) 4.74 x 102 Hz

T WIEH, TF =g, TF Feragi 3R @
o= it FUH FeMt § | 9 IR et
TR Y AT 39 YRR Bt |

A) ?Lp=?'.n}}\.e>lu

B) A, <A =} <A,

C) A, <A =4, >},

D) la=?i.p=ln=lu

A hydrogen atom initially in the ground 34, U TIESIA THIY] Fr=a W W my |
level absorbs a photon and is excited T R # e s g it n =4
at n = 4 level then the wavelength of '
it gﬁwﬁrm%ﬁrﬁaﬂﬂ
A) 790 A° Rens
B) 870 A° ) .
C) 970 A° 2} £t
D) 1070 A° yhact
D} 1070 A°
The half life of polonium is 140 days. 35, Uiy i a1 amyg 140 fiaw 21 v a
In what time will 15 g of polonium be 7 31 e TR 16 T E 15 UM TegE
disintegrated out of its initial mass of 2
1697 ﬁvﬁaa’rﬁT .
A) 230 days A) 230 o=
B) 560 days B) 560
C) 730 days C) 730 fikam
D) 160 days D) 160 fe=
5 JCECE (PaC
*n
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AR R R

36. In a transistor connected in common
emitter mode, R, =4 kQ, R,=1 kQ,
lo=1mA and |, = 20 pA. The voltage
gain is
A) 100
B) 200
C) 300
D) 400

37. Line of sight propagation is
A) Ground wave propagation
B) Sky wave propagation
C) Microwave propagation
D) None of these

38. In the circuit the output 'y becomes
zero for the inputs

Ao—

B o——1

Do——uv

A)yA=1,B=0,C=0
B) A=0,B=1,C=1
- C)A=0,B=0,C=0
D) A=1,B=1,C=0

39. Two nuclei P and Q have equal number
of atoms at t = 0. Their half lives are
3 hours and 9 hours respectively. Their
ratios of rates of disintegration after
18 hours from the start is

36, TR Seasis Toneh 93 T iR A
R =4k, R, = 1kQ, Ig= 1 mA 3
|B=2nm_w—qﬁéw’a

A) 100
B) 200
C) 300
D) 400

37. gfemm f @ e
A) 01 T
B) 7RI AL T
C) g&w a1 T
D) g & = e
8. wibed I & O SER Y
YRR TR |

Ae—]
B o—

}——ov

A) A=1,B=0,C=0
B) A=0,B=1,C=1
C) A=0,B=0,C=0
D) A=1,B=1,C=0

39. A Fzai PR QH t = 0 W T Hi
ﬁww‘%tﬂaﬁmm:sﬁﬁr{
sﬁ%%amﬂ%wﬁﬁmmﬁuﬂaﬁ
A T T B

A)2:9 A)2:9
B) 3:16 B) 3:16
C)1:10 C)1:10
D)5:8 D) 5:8
A m 5 JCECE (P&C)
ek N
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40.

41.

- 42,

In an inductor of self inductance 2 mH,
current changes with time according
to relation I = t?%¢~. At what time emf is
zero 7

A) 4s
B) 3s
C) 2s
D) 1s

A circular coil of 25 turns and radius of
12 cm is placed in a uniform magnetic
field of 0.5 T normal to the plane of coil.
If the current in the coil is 5A, then total
torque experienced by the coil is

A) 1.5 Nm
B) 2.5 Nm
C) 3.5Nm
D) zero

A cylindrical rod is reformed to half
of its original length keeping volume
constant. If its resistance before this
change where R, then the resistance
after reformation of rod will be

A) R
B) B,
c) 3R

D) B4

Page No. 14

https://exams.freshersnow.com/category/entrance-exam-question-papers/

40.

41.

42,

R

2 mH E-399eH T U W F | = t2e
Helel < IR foega 799 & rgun wfefda
it ® | forw @ emf Y @ ?

A) 4 BFs

B) 3 ¥¥s

C) 2 ¥%e

D) 13¥%s

o 12 adfl. s aiR 25 e g

AR Feeft 0.5 T % e ol &89 =t
el Haw @ weaad, i fea 2 1R

Fea d forgd 5A &, o el WM Fren
e wt @

A) 1.5 Nm
B) 2.5 Nm
C) 3.5 Nm

D)=

T eI B8 i 3 Fi Fiaa wad gu
IGehl wed & 2y o eI W & | 92 34
viada ® g wfadiy R o1 & ofted T & =1
S I yieiy B

A) R
B) B
c) 3%/
D) B4

5 JCECE (P&C)
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(AR

43.

For a gas of molecular weight M specific
heat capacity at constant pressure is

3

R
r-1
L[fl_
r-1

A)

B)

rR
< M(r—1)
rRM

9 =)

45.

. Aparallel plate capacitor has 2 uniform

electric field E in the space between
the plates. If the distance between the
plates is d and area of each plate is A,
the energy stored in the capacitor is

1
A) 5 € GEE
E* Ad
€o
1
C) E € l}Ez.lbtﬂ
D) e OEaAd

B)

AB is a wire of potentiometer with the
increase in the value of resistance R,
the shift in the balance point J will be

=0
i

A) towards B

B) towards A

C) remains constant

D) first towards B then back towards A
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43.

45.

T M e arett g & e TR
ﬁﬁ'l‘iaﬁ'-‘[ﬂrﬁm%(r*%’-}
s
B) .r’%
rR
©) M(r-1)
5 rRM
) (r-1)
ummqﬁaamfcﬂﬁcﬁaaﬁ%a‘lﬂaa
<o 3 T forega &9 E B | af FE F
ﬁﬂﬂ{ﬁdaﬂ‘{uﬁﬁﬁﬂﬁm%ﬂﬁ.&%
3 s o Gfra S B
A) 12E0E2
8) EEAd
c) %._c_nEEAd
D) e,E°Ad
Asmﬁﬁ—qaiﬁtmamm%ﬁaﬁuﬁrﬂu
R oA RE N e | wige fog J
fereontia B0 |
E :K i
PI—‘ 3 B
Lo
A) B 3R
B) AR 3N
C) e wan 8
D) ed B R 3 R A S
5 JCECE (P&C)
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46. A domain in ferromagnetic iron in
the form of cube is having 5x10'°
atoms. If the side length of this
domain is 1.5 pym and each atom
has a dipole moment of 8 x 102 Am2,
then magnetisation of domain is

A) 11.8 x 105 Am™!
B) 1.18 x 10° Am™!
C) 1.8 x 10°Am™
D) 1.18 x 10° Am™
47. Power dissipated in an LCR series

circuit connected to an AC source of
EMFE is

. E"‘j R?+ (mL-m—LJz

R

1. 2
EE[FIz +(mL - _C] J
B) ©
R
ER

? J R? +[mL -—ér

D) E°R :
{Rz +[mL—r 0%] }

48. A ray of light is incident at 60° on

A 0 A

46. JEEifos O § T & w9 § % Ay 1
5x10% 91y § | 4fS 39 85 i sfem Y et

1.5 pm 3R el vy = Ry sl
8 x 1072 Am?8, T &3 = Jarhiator 3

A) 11.8 x 105 Am™
B) 1.18 x 10¢ Am-"
C) 11.8 x 108 Am™"'
D) 1.18 x 105 Am""

47. EMF E 3 % AC %1d @ 92 @ LCR

§@en withe ¥ wifdy weear &
2
EQJ R? +(mL-mi]
A) =
2
Ez[ﬂh(ml_-i) J
w
B)
R
E*R
C) : TV
D) E*R

[FF +(mL— 5316]2}

48. G 30° HI 1ot AIsT & U Bels T E0° |

s AT 4% | e ety e
incident ray. The refractive index of the o amaferes foeon ?"-‘m" 30° 1 v Sl
prism is 2 | firom 31 aroadais @
A) 1.732 A) 1.732
B) 1.414 B) 1.414
C) 15 C) 1.5
D) 1.33 D) 1.33
5 JCECE (P&C)
L =
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49.

50.

Hydrogen atom from excited state
comes to the ground state by
emitting a photon of wavelength A.
If R is the Rydberg constant, then
the principal quantum number n of
the excited state is

AR
A) \aR-1
A
B) AR-1
o AR?
) AR-1
AR
D) ¥3-1
Select the output Y of the combination

of gates shown in fig. for inputs A =1,
B=0;A=1,B=1andA=0,B=0
respectively.

A,_E_DJ_%:@MY
B°_|_—

A) (0,1,1)
B) (1,0, 1)
C) (1,1, 1)
D) (1,0,0)

49, )\ TUTEHAT 1 T BISH Iea TS e BRI
Ty e e @ P febrfer 3 am s
2 19R R, Year Faais & 9 i fRufa 6
WA F97H §@T n 8

AR

A) VAR

A
B) AR-1

AR?
AR-1

C)

AR
R e

50. M@ A=1,B=0;A=1,B=13K
A =0, B = 0 % fome fus # awiiv s1gan
R & waiem @ Frla Y g

N 5__4@”@)_;@_4.
Bo—l—-—"

A) (0,1, 1)
B) (1,0, 1)
C) (1,1, 1)

D) (1.0,0)

5 JCECE (P&C)
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CHEMISTRY

51. The molecule which is having dsp?
hybridization

A) INI(CN),
B) BrF,
C) PF,
D) SF,

52. Atconstanttemperature the pressure of
a fixed amount (ie number of moles n)
of gas varies inversely with its volume.
This is known as

A) Boy's Law

B) Boyle's Law
C) Charle’s Law
D) Avogadro Law

53. One among them is an example for
insulators in solid state but conductor
in molten state.

A) SiO,
B) CaF,
C) CCl,
D) Fe
54. The type of absorption is highly specific

and takes place at high temperature
with unimolecular layer is

A) Chemisorption

B) Physisorption

C) Chemisorption and physisorption
D) None of the above

Page No. 18

60O 0
e fagma

51, =& 9] ot dsp? Eferemaiem &
A) [Ni(CN), >
B) BrF,
C) PF,
D) SF,

52. Fraa agam w i f o e g
(n it <t &) ST AT & faem
Tafer i 2, 9= Fwamar @

A) aig 1 fram
B) @iaw 1 fam
C) =ied 1 fm
D) &g = fram

53. T 8 U U1 IeTE @ S SW wUH
FeTer § R ot e d geeE € 7

A) SiO,
B) CaF,
C) cCl,
D) Fe

54, Y=Y H TE TR ot I=9 ¥ A fARme @
3fR 1Y) X % WY Iee A TR

A) TEEATSEISO
B) siferes vy
C) wrEAEsNY 7 siifas sagiem

D) IfFd & 4 K T
5 JCECE (P&C)
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1 0 O R A

55. Neoprene is synthesized using
monomer.

A) GH,= C —CH =CH,
cl

B) CH,— GH - CH=CH,
cl

C) CH, - CH = CH-CH,

D) CH,~ G =CH-CH,

Cl
56. Thefollowing reactioncanbeaccelerated
in the presence of component

2 KCIO,— 2 KCl + 30,
A) Manganese dioxide
B) Platinum

C) lron Oxide

D) Magnisium dioxide

57. As of now, total number of elements with
atomic numbers placed in the periodic
table is

A) 118
B) 108
C) 119
D) 117

58. Transformation of benzoyl chloride to
benzaldehyde by the hydrogenation in
the presence of palladium on barium
sulphate is named as

A) Etard reaction

B) Stephen reaction

C) Gatterman reaction
D) Rosenmund reaction

55. faefg  Ueheld 9 39AM
Heh qaT 8 |
A) CH,= G —CH=CH,
Cl
B) CHa—(liH-CH=GH2
Cl

C) CH, - CH = CH - CH,

D) CH,- C =CH - CH,
Cl
56. fefefaq oot WEH
Iafefs & g o o wd R |
2 KCIO, — 2 KC! + 30,
A) TS SaAiFEES
B) wteAd
C) A HFEES
D) Arfiftrm SRS

57. adu &, arad qwoft 3 g He aitd @
T a6 T a8
A) 118
B) 108
C) 119
D) 117

58, frem wede 1 doifem 6 sufeufa d
RIS BRI Sege FETS
e i
FEAE |
A) Z2E fufean
B) wWiwA Afifsral
C) ek arfufsn

D) Vs Ffufwa
A 5 JCECE (P&C)
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59.

60.

61.

62.

63.

Write the IUPAC name of the foliowing
compound : K JFe(CN),]

A) Potassium ferro cyanide (Ii)

B) Hexa cyano ferro potassium

C) Potassium hexacyano ferrate (1
D) Potassium hexacyano ferrate (1

Most electronegativity element in the
periodic table

A) Br
B) F
C) H
D) O

A metal donot dissolve in concentrated
nitric acid is

A) Al
B) Na
C) Cu
D) Ag

Choose the reagents used to transfer
carboxylic acid to acid chioride.

A) PCl,, PCl,, SOCI,
B) HCI, HOCI, SOCL,
C) PCl, HCl, SOCI,
D) PC,, PCl,, HC

An example for a crystal system with
axial distances and axial angles are
ax bzcanda#B=y =90

A) ZnSO,

B) Na,.SO,.10H,0
C) CuSO,.5H,0
D) CaCO,

59.

60.

61.

62.

63.

Page No. 20
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0 O 0

freaffaa 9 =1 IUPAC 7w fafta |
K [Fe(CN)]

A) defimm HU A ()

B) a1 il R WS

C) Wi YemmmE #e (1)

D) weRREm dEaEE e (1)

amad wrht # waifas g -Hones
T ®
A} Br
B)IF
C) H
D) O

ﬁﬂmﬁwﬁﬂmﬁmwﬁﬂﬁgﬁm
A) Al
B) Na
C) Cu
D) Ag

raifEafE T ) o7 TANES

ToFiaRE F0 aren A §
A) PCl,, PCI,, SOCI,

B) HCI, HOCI, SOCI,

C) PCl,, HCI, SOC,

D) PCl,, PCl,, HC

afia gl ofR e BT a # b c 3
02 P =y =90 T Bree yomet 1 T
IR &
A) ZnSO,
B) Na,.SO,.10H,0
C) CuS0,.5H,0
D) CaCoO,
5 JCECE (P&C)
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64. One among them is a good reducing
agent

A) H,PO,
B) H,PO,
C) H,PO,
D) H,P,0

2277

65. Write the highest order of reactivity for
S, reaction

A) HC - Cl
B) H,C - CH,~Cl

CH,
C) HC- r;:_ cl
H
CH;
D) H,C - ('_I:_ Cl
CH;,

66. Example for strongest reducing agent
amongst all the hydrides of group 15
A) NH,

B) AsH,
C) SbH,
D) BiH,

67. Rate = K[A} [B]% [C]" order of the
reaction is

A) Second order
B) Half order

C) Third order
D) First order

A Page No. 21
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64.

65.

=il T o e A @
A) H,PO,

B) H,PO,

C) H,PO,

D) H,P,0,

s,2 affsran & v rfdifsramiern 1
ITIAH FA B

A) H.C-Cl
B) H,C - CH,-Cl

CHs
C) HC- cIE _cl
H
CH;
D) HC - tL:— cl
CH,
e 15 3 it gl -2 e W
Frqeht TP T JeTE B
A} NH,
B) AsH,
C) SbH,
D) BiH,

67. @ = K[A}? [B]2 [C]" aififiren i
it 2

A) Tedta Aoft
B) ard gvft
C) Tt Avht
D) wus Hofi
5 JCECE (P&C)
Rk N
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69.

70.

71.

T2

Smoke is an example for
type colloid system with
dispersed phase and
dispersion medium.

A) Aerosol, Liquid, Gas
B) Foam, Gas, Liquid
C) Aerosol, Solid, Gas
D) Foam, Gas, Solid

What would be the IUPAC name and
symbol for the element with atomic
number 124

A) Unbiennium, Ube
B) Unbinilium, Ubn

C) Ununquadium, UUq
D) Unbiquadium, Ubq

Name the compound which is a
colourless explosive solid and has a
pyramidal molecular structure

A) XeO,
B) XeOF,
C) XeO,F,
D) XeF,

IUPAC name of O-chlorotoluene is
A) 1-chloro-2 methyl benzene

B) 2-methyl-4 chloro benzene

C) 2-chioro-2 methyl toluene

D) 4-chloro-4 methyl benzene

Mathematical statement of the first
law of thermodynamics is

A) AU=q+W
B) g=Au+W
C)W=AU+q
D) Au=q-W

Page No. 22
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68.

69.

70.

71.

i

gaﬁ__ﬁtrf@cﬁﬂaqamam____
qfErqer HTead ST M EQE RTINS
WO T T 36T 8 |

A) afieam, o, T

B) wm, i, At

C) afieraw, 3, i

D) wm, T4, 3|

T G 124 T e B IUPAC ™ 30
fR=ng?

A) fafrad, Ube

B) amfafif@n, Ubn

C) IFeFaatsan, UUq

D) smfrafeam, Ubg

v A 1 A S T TR R 3w
afR sah anfoas we frafie 3@ R
A) XeO,

B) XeOF,

C) XeOQ,F,

D) XeF,

O-aeiizieqz & IUPAC TH &
A) 1-aER-2 frede =i

B) 2-frarde-4 T wSid

C) 2-Fe-2 fass ey
D) 4-geiil-4 fyerda sisid

SR 3 werm Frem i itrdi samen
A) AU=q+W
B) g=Au+W
C)W=AU+q
D) Au=q-W
5 JCECE (P&
Rk N
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73. Name the type of reaction invoived in
the following reaction.

2 AuCl, + 3 HCHO + 3H,0 f—)&Aum+ 3 H COOH + 6 HCI
A) Double decomposition
B) Reduction
C) Oxidation
D) Hydrolysis

74. The enzyme present in the curd is
A) pepsin
B) zymase
C) lactobacilli
D) diastase

75. The major uses of compound A is in
the preparation of nitroglycerin,
trinitrotoluene etc. then compound A is
A) nitric oxide
B) nitrous oxide
C) nitric acid

D) nitrogen dioxide

76. NOz' is an example for type
of ligand.
A) hexadentate
B) bidentate
C) monodentate
D) ambidentate

73. freffaa s & mite sl &

W T T ST, |
2 AuCl,+ 3 HCHO + 3H,0 252y, __+3H COOH + 6 HCI
A) fg stvEea
B) sTq=ad
C) J9=g
D) wel-31qEeA

74. =& # Iuftya TaTEn #
A) ¥fEm
B) wgA=
C) STt
D) SHRY

75. s A %1 TEa4; T AELCERA,

RIS AN SR A B E |
NAFH AR

A) T AgS
B) AT5ZH ATATES

C) R v

D) TEH ST

76. Noz*___mﬂm'wﬂml
T |
A) eEdt
B) fagd
C) Tl
D) sgedt

A 5 JCECE (P&C)
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77.

78.

79.

80.

What is the correct order of ionic
radius of the following species 0%, F~,
Na* and Mg+ ?

A) O*> F~> Na*>Mg*

B) O*> F-> Na*<Mg*

C) 0> F-<Na*>Mg*

D) 0> < F-<Na*<Mg*

Choose the expected product ‘A’ of

the following reaction.
+

CH, —CH, ~CH=CH, + H,0 ====A
A) GH, — CH = CH—CH,
OH
B) OH,~ CH,— CH = CH,
OH
C) GH,~ CH, ~ CH —CH,
OH
D) GH, = G- CH,~CH,
OH

The concentration of hydrogen ion in
a sample of soft drink is 3.8x107* M.
What is its pH ?

A) 2.42

B) 3.42

C) 1.42

D) 4.42

Name the element in the group 16 )
having smallest atomic and ionic radii.

A) O
B) S
C) Te
D) Se

§ Page No. 24
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7.

78.

80.

0
L

Pr=rfrRaw wenf 0%, F-, Na* 3R
Mg+ ¥ Tl e @ @ 59 3
A) 0*> F > Na*>Mg*

B) 0> F->Na* < Mg*

C) 0*> F-<Na*>Mg*

D) 0*< F-<Na*<Mg*

fPrefarfaa sfifsean & 3w ‘A &I
Codl
OH, — CH, — CH = CH, +H,0 ===
A) GH, — GH = CH ~ CH,
OH
B) CH, — CH, — CH =CH,
OH
C) CH, ~ CH, — CH - CH,
OH
D) GH, = G~ CH,~CH,
OH

.qgﬁaﬁ;q%q@ﬁgﬁf,ﬂmwﬁm

3.8x10~ M ¥, 3! pH T &l ?
A) 2.42
B) 3.42
C) 1.42
D) 4.42

wg 16 3 TaR B wonva o STt
frear 1 aed 1AM FaRe |

A) O

B) S

C) Te

D) Se

5 JCECE (P8
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81. Examples for neutral oxides
A) CO,NO, CO,
B) CO, SO,, SO,
C) CO, NO, NO,
D) CO,, SO, N,O,

82. Example for antidepressant drug
A) Prontosil
B) Ranitidine
C) lproniazid
D) Heroin

83. Name the catalyst used in the
following reaction.
4 HCl, + 0,y —* 2Cl, + 2H,0

A) ZnCl,
B) SnCl,
C) CuCl,
D) PdCI,

84. Phosphorous trichloride has a
structure in
which phosphorous is
hybridization.

A) pyramidal, sp®
B) 'pyramidal, sp®
C) bipyramidal sp®
D) bipyramidal sp®

85. In the co-agulation of positive Sol, the
flocculating power is in the order of

A) PO >80, > CI" > [Fe(CN)J~
B) CI > PO,” > 80,” > [Fe(CN)J"
C) [Fe(CN)J" <PO,” <80, <CI
D) [Fe(CN)J" > PO,”>80,” >CI

A [ page o 25
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81.

82.

83.

e SATeaTES ¥ IAEW B
A) CO, NO, CO,

B) CO, SO,, SO,

C) CO, NO, NO,

D) CO,, SO,, N,O;

faTaa i I IEE &
A) vieifte

B) {erda

C) IMgafig

D) A

freffaa st & g IO F1 W

cond
4Hmm+0

2(g}
A) ZnCl,
B) SnCl,
C) CuCl,
D) PdCl,

ARmieErE GO
A) futfres, sp?
B) futfued, sp®
C) afttiea sp?
D) sfaiiew sp®

— 2CI, +2H,0

. e et 3 whed 3 Iui I o A @
“A) PO >80, > Cl > [Fe(CN)J™

B) O > PO > SO, > [Fe(CN)J~
C) [Fe(CN)]" < PO,> <80, <CI
D) [Fe(CN)J* > PO,”>S0,” > CI"

5 JCECE (P&C)
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86.

87.

89.

Name the highest number of oxidation
states shown by an element of first
row transition metal

A) Fe
B) Cr
C) Mn
D) V

Among the alcohol which one is highly
reactive with hydrogen halide

A) CH,OH

B) CH,CH,OH
o

C) CHy— G- OH
CHy

D) CH,~ CH-OH
CHy

Rate constant units for first order, second
order and zero order reaction is

A) molL-'S", S~ and mol™' L S~
B) mol' LS, S and mol L7' §™
C) S, mol' L S-' and mol L' S
D) S, mol L'S* and mol~ L §™'
The product ‘A’ of the following
reaction is

COg* 2Hy

A) HCHO,

B) CH,OH

C) H,0

D) CH,OH + H,0

Cu/Zn0 - Cr,0,

Page No. 26

> A

86.

87.

88.

A T AT

o Wi % e UTg ded ERI SIS T
Tftrerad Iq=E T3} S AW SATST |
A) Fe

B) Cr

C) Mn

D) V

T A TESISH BTEe o 1Y I
rfufsramefiel seenrera &
A) CH,OH
B) CH,CH,OH
CIJHa
C) CH,~ G- OH
CH;
D) CH,~ CH-OH
CHs

v Aoft, Tl Soft it v Soft sxftifsen

o fore = forrer v @

89.

https://exams.freshersnow.com/category/entrance-exam-question-papers/

A) mol L' S, S~ sfit mol' L S
B) mol* LS, S 3t mol L' S
C) S, mol-' L S~ iR mol L' S~
D) S, mol L' S 3t mol- L S*

frfefge afufsemn 1 o= ‘A R
/ZnO-Cr,0
0O+ 2Hyy — o %, p
A) HCHO
B) CH,OH
C) H,0
D) CH,OH + H,O
5 JCECE (P&C)

N
CollegeDekho



|

{1 A

80. One among the following posses zero
dipole moment
A) H,0
B) H,
C) NH,
D) HCI

91. Name the polymer which is used
for nonstick surface coating and it
decomposed at temperature above
300°C
A) polyester
B) Teflon
C) Orlon
D) Nylon

92. The conversion of molecule Ato B follows
second order kinetics. If concentration
of A is increased to four times, how will
it affect the rate of formation of B
A) The rate will increases to 16 times
B) The rate will decreases to 16 times
C) The rate will increases to 8 times
D) The rate will decreases to 8 times

93. Choose the equilibrium constant for
the reverse reaction for the following

reaction.
Hz{ Iztm N 2H|{u}
[HIf
A Ko =T
' [HI|
? Ko =, 0]
H]0-]
©) Ke= HE

D) K, = Hallel

[HI] [HI]
A s

https://exams.freshersnow.com/category/entranc:

90.

A.

92.

93.

e-exam-question-papers/

71 @ T Y T wefi e e @
A) H,0

B) H,

C) NH,

D) HCI

36 FgET 1 AW ATy i R e T
g ST ¥ S e ¢ S 300°C R
afr 3 e W Fuifa SR |

A) WifeTeRT

B) 35

C) A&

D) SRrEH

A B o i ufada fidra Aoft it i ® |
A S wiza TR I e T R | T8 BH A
$ 70 F Wik wem ¢

A) & 16 TN &G S |

B) & 16 T u2 STt |

C) = 8 T &g St |

D) =t 8 1o =e St |

it s A Rreim sl %

fora v Frerien SR |

H2[m+ Iztg) — 2HI
_[HIF

[He][L]

HIF
[H,][%.]
[H][r=]

T

Ha] L]
2

(o}
A) K =

B) K, =
C) K, =

D) K, =

5 JCECE (P&C)
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04. The crystal defect shown by ionic
substance with large difference in the
size of ions and almost similar sizes are
named as
A) Schottky defect and Frenkel defect
B) Impurity defect and metal excess

defect
C) Frenkel defect and Schottky defect

D) Metal excess defect and Schottky
defect

9%, Find out the product ‘A’ of the
following reaction.

NH,
@’ + CHCI, + 3KOH

heat , A+3KCl+3H,0

.

©)
H

NC
g
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Q4. T & HTEHA) H Aftreh R R T &R
T T 1A yeTe g <wie e fnee
T i A R

A) THIH G 3R St A
B) IYIedT 4 iR grg e 2
C) Sver 3 ol T
D) g AT <9 3 whiehl A9

g95. frafufaa stfifirn & 3w ‘A’ =i 3|
|

NH,
@’ + CHCI, + 3KOH

FE
—— A+3KCl+3H,0

C)

H
NC
J g
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96. Calculate the mass percentage of
benzene (C,H,) and carbon tetrachloride
(CC1,) if 38 g of benzene is dissolved in
122 g of carbon tetrachloride

A) 23.75, 76.25
B) 76.25,23.75
{ C) 75.23, 25.76

D) 25.23,75.76

97. Choose the one, which posses
highest acidic strength

NO,
| B) QOH
|
|
i ¢) P—OH
| &
i
| D) D—OH

https://lexams.freshersnow.com/category/entrance-exam-question-papers/

A

96. AR i 38 T HiEA SAAITTS
1zagﬁq‘mm?ﬁ§aﬂq(cﬁHﬁ}a"r{
T 2gEaREs (CCl,) ¥ R Wl
ot T |

A) 23.75, 76.25
B) 76.25, 23.75
C) 75.23, 25.76

D) 25.23, 75.76

7. Tatfren vl vifE e 9T |

NO,
.
NO,
O

D)

H
H
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98.

99.

100.

Steam reforming process involves

A) CH, +H,0 —M3O_, co + 3H,

B) CH, + H,0 —9_, CO+3H,

C) CH, + H,0 —222, CO + 3H,

MnO
D) CH, + H,0 ———— CO +3H,

Choose the reagent A and B used for
the following reaction.

"
—_—
B X

- @ +N2

A) NaNO, + HX, Cu,X,
B) Fe, dark

C) Zno + Hx Cu,X,

D) Cu,X

22

NaNO, + HX

Monomers used for the synthesis of
Glyptal are

A) Ethylene glycol, phthalic acid
B) Urea, formaldehyde

C) Vinyl chioride, Phthalic acid
D) Phenol, Formaldehyde

1 RO

98. arsd Sl § e 2

99.

100.

A) CH, + H,0 — MO , cO +3H,
B) CH,+H,O RINCOEREO & 3H,

C) CH, + H,0 —229, CO +3H,

©
D) CH, + H,0 M9 , co +3H,

Frerfaa sl & e wgw s
AR BgHT |

A
—
B X

— @ +N,

A) NaNO, + HX, Cu,X,

'B) Fe, 319

C) Zno + Hx Cu,X,

D) Cu,X

22

NaNO, + HX

frree % fmivn ¥g T Toher ¢
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Answer Key for JCECE (Physics and Chemistry) (Set-A) -
Q. No. | Answer Key Q. No. | Answer Key

1 A 51 A
2 A 52 A
3 D 53 B
4 A 54 A
5 c 55 A
6 A 56 A
7 B 57 A
8 B 58 D
9 A 59 Cc
10 C 60 B
11 B 61 A
12 C 62 A
13 C 63 C
14 A 64 A
15 Cc 65 A
16 B 66 D
17 D 67 D
18 A 68 c
19 C 69 D
20 B 70 A
21 A 71 A
22 A 72 A
23 A 73 B
24 A 74 c
25 B 75 c
26 D 76 D
27 B 77 A
28 D 78 C
29 Cc 79 B
30 B 80 A
31 B 81 c
32 C 82 c
33 B 83 C
34 C 84 B
35 B 85 D
36 B 86 C
37 C 87 c
38 D 88 C
39 B 89 B
40 Cc 90 B
41 D 91 B
42 B 92 A
43 C 93 D
44 Cc 94 C
45 A 95 D
46 D 96 A
47 D 97 A
48 A 98 B
49 A 99 A
50 D 100 A
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